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Assessment Review
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2) Given the integers -2, +10, -7, +3, -8 , which two would give
the greatest product?
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Translation- is a slide of a shape in a straight line

- arrow is used to show the movement
- the translated image and the shaded shape are

congruent and have the same orientation

translation arrow

oL

‘The shaded shape D is translated _ units to give
ranslated image A'
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— —Wr(or \MEHe
@eflection- find horizontal line of reflection M
A\ [
*Shape D is reflected in the red line. It reflects image
is Shape B

- Find vertical line of reflection (marked with green)

* The shape D is reflected in the green line of

reflection. Its reflection image is Shape C
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( Rotation- need a point of rotation (41"13)

- The shaded shape D is rotted 180° clockwise about the

point of rotation(marked with a BIG dot). The rotation

image is shape K

- rotation image of 180 are congruent
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ngle D is the image of Triangle ¢
a rotation of 90° clockwise about p
is a vertex the two triangles share.

e same image is also
esult of a rotation of
270° counterclockwise about P.

angle F is the image of Triangle E
after a rotation of 180° about R.
The point of rotation, R,is not on
the shape being rotated.

P

T Paint of
rotation

Print of rotation

...............

December 10, 2019
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Look at page 458, 459 Example 1 & 2
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